[ normalized x? probability |

1072

Entries
Mean 0.9887
Std Dev. 1.24¢

107

107

o 1O
=
IS

0 2 4 6 8 10 12 14 16 18 20 0 010203040506070809 1
2 Prob(x2)

m=m== DQM_original_step2__pt1000_eta2p5to4p0
e DQM_mkFit_step2__pt1000_eta2p5to4p0
wmmm= DQM_pixelCPETemplate_step2__pt1000_eta2p5to4p0

>

N = i
— r ?, C
? 18F--aaannt PR N PR n 08
% f 2 04
\ I T A A S -
1'6: <Ol 0.4
] SRCEEE EEPEPE EPEPLT EPEPD Vo02
T SRR Ceeeen T Ceeeen 0
Eoo : Do -0.2
e R A R A ] “oaf
P RPN SRR * -o6f
06:—-- ................... -08
I i i i i i
o H o+
3 3
x @
1= i o
0.95 . . . . . 0.95 . . . . .
23 -2 -1 0 1 2 3 23 -2 -1 0 1 2 3
n TP n (PCA to beamline)
N O A F
2 2 18f-
3 25 % 1.6E-
v v o
2 1.4~
1.2F
1.5] -
0.8F-
! 0.6
0.5 04k
0.2F
o ¥ o GF
© ©
v @
1 0.5
0. . L L 3 C_3 . .
107 1 102 go 10 1072 ) 15)’1
T AR(track, jet




	Contents
	Page 1


